SUNM@2oo

NanoMount Decking Screw

Part Number Description

K50049-BK1 Lag Bolt Assembly
« Hex Lag Bolt M8X115, DIN 571, 304S
« Sealing Washer .33 ID X .75 X .157

K50055-BK1 Decking Screw Assembly
« Self-Tapping Screw, #6.3 X 76
« Sealing Washer .26ID X .50X .125

Cut Sheet

Lag Bolt Assembly

1. Hex Lag Bolt M8X115, DIN 571, 304

121 453
53] [115.0]

024 L
6.0

67.3£25)

+0.008
0,00

2031°%
fe0:33]

051
113.0}

Material: Stainless Steel
Finish: Clear

R

2073
[18.5]

.75
119.0]

N A —

Material: EPDM + Stainless Steel

Decking Screw Assembly

1. Self-Tapping Screw, #6.3 X 76

Material: Stain
Finish: Clear

2. Sealing Washer .26ID X .50X .125

il

20.59
nso | teo

Material: EPDM + Stainless Steel

D10214-V003

Dimensions shown are inches (and millimeters) Details are subject to change without notice



